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useau V, =1.020° Tastmuald

P,=0.2 p.u. Q,=0.15 p.u.
P,=0.2 p.u. Q,=0.15 p.u.
P,=0.2 p.u. Q,=0.15 p.u.
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Table of Busses:
Bus 1 Slack bus
Bus 2 Load bus
Bl [Lowd2  Buss  Loadbus
2 ®
I ©)
Load 3

| Per-unit series impedances and the corresponding admittances of the
transmission lines in Figure 11-1

1-2 0.10 + j0.40 0.5882 — j2.3529

1

2 23 0.10 + j0.50 0.3846 — j1.9231
3 2-4 0.10 + j0.40 0.5882 — 2.3529
4 34 0.05 + j0.20 11765 — j4.7059
5 4-1 0.05 + j0.20 11765 — j4.7059
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Vi =1/0°1 % 2

Slack

300 MW 270 Mvar
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Vi =1.025/0 0.0 P; = 300 MW
o =0
Slack | V3 |=1.03

400 MW 200 Mvar
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b y12 = —j40 2
Py = 400 MW
O =
Y13 = —j20 Y23 = —320

Slack Bus 3 | Va |=1.05
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